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(*) Instructions to candidates:

1) Answer Q.1, Q.2, Q.3, Q.4, Q.5 OR Q.6, Q.7 OR Q.8
2) Figures to the right indicate full marks.

3) Use of scientific calculator is allowed

4) Use suitable data where ever required

Q.1) a) Determine with a neat diagram all the type of zero dimensional defect? [6 marks]

OR
b) HCP metal show the deformation by which mechanism? Explain Why? [6 marks]

Q.2) a) For the same metal grain size is coarse grain , which property is better? Explain [6 marks]
in detail?
1
1
OR
b) Write a short note on : advantages and disadvantages of Dye penetrant test [6 marks]
over Radiography?

Q.3) a) Explain the polishing in metallography. Explain the all grades of [6 marks]
Polishing. _ o
OR i
b) Define: 1. Microscopy 2. Variable 3. Eutectic system? [6 marks]

Q.4) a) Define the following: 1.Austnite 2.Delta ferrites | [4 marks]



OR
b) What is the classification of steels on percentage of carbon method? [4 marks]

Q. 5) a) Define 1,Steel 2. Ferrite stabilizer 3 Neutral elements? [6 marks]
b) What is Gray CI? Which element is added are more in GCIL. [4 marks]
¢) What is 1] White cast iron 2] Malleable cast iron [4 marks]

OR
Q.6) a) Define 1. O grade in tool steel 2. CCR 3.Tempering ~ [6 marks]

b) With proper TTT diagram show Conventional Annealing and isothermal . [4 marks]
annealing on TTT curve

c¢) Explain the role of allying elements in tool steel.

[4 marks]
Q.7) a) Define 1. Annealing 2. Ps in TTT 3. Mfin TTT [6 marks]
b) Draw the microstructure Annealing and normalising AISI 1060 steel. [4 marks]
c) Which elements are present in brass and explain their role? Explain? [4 marks]
OR
Q.8) a) Define 1, Cooling media 2, Retained Austenite 3. Steel region [6 marks]

b) With proper Iron Carbon diagram draw Normasing on it? [4 marks]

c) Explain the disadvantages of normalising fromA1 for hypereutectoid [4 marks]
steel



